

CORRECTION :
ON TOTAL STABILITY AND ASYMPTOTIC STABILITY

(This journal, Vol. 19, pp. 71-74)

GEORGE SEIFERT

(Received June 18, 1968)

I am indebted to Professor H. A. Antosiewicz for pointing out to me that in the hypotheses of the theorem in my paper mentioned above, Condition (3) should be replaced by the following :

$$\lim_{\lambda \rightarrow 0+} e^{\lambda(t-t_0)} f(t, e^{-\lambda(t-t_0)}x) = f(t, x)$$

uniformly for $t_0 \geq 0$, $t \geq t_0$ and $|x| < \rho$.

The corollary of the theorem in this paper is easily seen to remain valid.